.

s &5

830A

> 830

N O LA D P A L P 0 P S S P OV (A P £

&

&

Aixiy pas ’V‘ O gan o0 00! CSlow Sgun 70Le! SLLLINS S
\YAA/YIYY AV 4 (0)) pas plol

R T
S35 g Sl pgle Ojl3g
298 Pigel e lajle

[ (‘TO?)J-@.’UG)M&WMM ]

L A3 10¢ 5 o8 s e L 1Yo 2l Sl

Y150 Bylasd g Slai o ilouial lge ylgac

Slati U | 5jles 31 | Jlgww Slani el 3ge s,
v ) ¥ (edSl) s g gogas G5 [ )
¥o \A 8 (e 20 5 o Jouil 300 SV 0las (Y g)) gogus 20 ,) COludl, Y
Fe 7 1) OVl Sl | Y
va #\ 1) (o il Julow g pllias Casglio wSilin!) Sliel> Silke | ¥
3. vF 18 (S ity yiaatd) 2l el | 8
\E) A\ 10 (Snaliy 39 j0ad) 2bS cSwd )l [ 7
\Y. B2 8 S leasle | Y

OWNVE S PR IWE L0 PR PR F-Eow 2518 e b yei ya03l ol

Dptgn 10, A ke il i b g a e jlone e sl 3 g bl g A ol aled 31 (g T S 2 3 (g g ) gy 0 S S g 5 e 5

A P P A L P P L £ A I TAT £ P O A B P VA L

=




Y axio 830A (1Y) aF = (245 (5 lane gwiideo AL gae

el (9031 dds 10 Lol jgua> pus & s (b3 Jeuo Ol jode 1o Las! g Glakie 730 pos (ool )5 Llbgls

Blad ci0earkinSs o JalS AT U cocasicisimmisrnins el B tedl b o il
B &,.v .QY‘P :Ip').dé ! Mb&m‘.‘ dyb .A..J’. 4 09,9 Q)U 6YL3 » C).L}.n u.,.l.b,!o B)ln-:a b |) é,$ u.l..\.\.o
otledge a1 plaalienly el 9 ¥l i 335 (g5 1 0 299 J S oS

 (dl) (a5 090k G Uj

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Some vegetarians are not just indifferent to meat; they have a/an --- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an -——--—-—-- in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a -------—--—- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.
1) vacuous 2) vivid 3) cyclical 4) careless

4-  The singer's mellifluous voice kept the audience --——--—-—-- for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday —------- o
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be - to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found ------mnnmu- , he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8- The old sailor's skin had become wrinkled and --- from years of being out in the

sun and the wind.

1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the ----------- of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10- That is to0 - an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ~==eeemeem-
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-eeeeeeee
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart, verbal relaxation instructions, and (13) ----- . They found a temporary

enhancement of spatial-reasoning, (14) ----------—- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) ~=—=eeeeeeem the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

| PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Weight control is the process whereby the intent of the specification in respect to the
deadweight carrying ability of the ship embodied in the design is maintained during
the development of the detailed plans. the ordering of outfit and machinery and the
building of the ship.

The effectiveness with which weight control can be carried out depends to a major
extent on the accuracy of the final weight estimate on which the load displacement and
the ship's lines are based.

In the monitoring process thereafter the weight committed by each plan is calculated
and, if it is more than that allowed for in the estimate, the question of' whether the
increase is necessary to meet a specified requirement is raised. Similarly the weight of
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16-

17-

18-

19-

20-

each bought-in item is obtained before the order for it is confirmed and again if this
exceeds the estimate the reason for this is probed.

Changes requested by the owners are evaluated for their weight effects at the same
time as their cost and delivery implications are estimated.

Sometimes weight increases, for whatever reason they arisen, have to be accepted
but in this case there must be a search for compensatory weight savings.

For some ships it is a specified requirement that every item going on board is
weighed, but it has to be admitted that the knowledge thus gained generally comes so
late in the construction process that remedial measures are very difficult and
expensive. If. however, there is going to be a serious weight increase. then even
belated knowledge from weighing is better than the awful truth only coming to light at
the inclining experiment when the ship is practically finished and the owner has taken
on operational commitments.

Along with the direct loss of carrying ability that weight growth causes, there can be
and usually are indirect effects on stability, trim, athwartships moment and even on
structural strength which can be every bit as serious or more so. The monitoring of
weight should therefore also take note of the effects that weight changes are having on
the centres of gravity.

This passage puts more emphasis on -—--—eeeeeeee -

1) decreasing the shipweight as far as possible

2) the various processes controlling the weight of a ship

3) the importance of weight control when to design any offshore structures

4) monitoring the ways whereby the intent of the ship specification is obtained

The weight of a ship is developed on —-memeeemeeeen,

1) the request of its owner

2) its specified cost as well as its delivery time

3) maintaining its design and its detailed plans

4) the load of displacement and the ship's lines

The word "probed" in the last line of paragraph 3 means ------- 5

1) guessed 2) investigated 3) provided 4) supported

When ship owners request some changes, —-------- ‘

1) the influences of their weight as well as cost and delivery implications are
calculated

2) their cost and delivery implications are considered as the most serious issues

3) the intent of these changes must be considered by the engineers

4) they must be accepted but in this case their weight might be calculated

If the calculated weight is more than the allowed weight, ~-—-—-—-—-- .

1) the ships can hardly maintain their balance

2) the experts evaluate whether this increase is necessary or not

3) the ship's carrying ability faces to a critical condition

4) the structural strength of the ships is put under the straight effects of this extra
weight
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PASSAGE 2:

The requirement that overrides all others for a tug is the bollard pull. This is
determined by the size and type of ship the tug is designed to assist, the number of tugs
that will share the work. and the currents, tides and winds in which towage may take
place.

Tugs for long-distance offshore towage must be very seaworthy vessels and have
ample fuel and stores capacity.

The turning capability should be tightly specified. All tugs, but particularly harbour
tugs, must be highly manoeuvrable. not least to avoid the danger of capsize that can
arise if the tow rope pull goes round to the beam and by the same token tugs must have
very good stability.

One way of providing a high manoeuvring capability is by fitting one or more
Voith-Schneider propellers or steerable thrusters in lieu of conventional propellers. If
these are positioned near the bow rather than at the stern they operate to pull the tug
rather than push it and. as a result, the danger of a sideways pull is almost completely
eliminated.

A required free-running speed may be specified, but this is usually of lesser
importance and in practice is often determined by the power installed to give the
bollard pull. However, if a relatively high free running speed would be advantageous.
this should be stated. as a variable pitch propeller can significantly improve free
running performance.

The word "overrides" in the first line means ---
1) cancels 2) compares 3) supports 4) unites

The following are necessary features for tugs used for long-distance offshore towage
EXCEPT ---—memeemeeeeee,

1) good enough condition to sail on the sea

2) storing capacity for use as needed

3) increasing their carrying ability

4) having plentiful fuel

The danger of a sideways pull in harbor tugs is completely removed if -
1) they provide to push the tugs

2) the conventional propellers are used

3) the turning capability is tightly specified

4) the steerable trusters are placed near the bow

The free running speed in tugs

1) is a variable pitch propeller 2) is not a critical requirement
3) provides power for bollard pull 4) depends on its size and type
The tugs, as you find out from the passage, -—-—-—--—---,

1) are designed to assist the ships to increase their power

2) must have a powerful turning capability along with a high speed

3) are big and powerful ships helping the others in bad conditions

4) are the types of vessels that manoeuver other vessels by pulling or pushing them
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PASSAGE 3:

Design development is not a smooth 'one-way' progression. As a simple example, the
power required of the main propulsion system cannot be finally decided until the shape
and displacement of the ship are known, but these depend upon the size and weight of
that propulsion system. The development of the design must be an iterative process.
Intelligent guesses, often based on a previous design. known as the type ship, are
needed in the early stages to ensure the first solutions are not too wide of the mark.

The type ship is one which is carrying out most of the functions asked of the new
ship and which is judged to be close to the size needed. The type ship will then give a
guide to the ratio of the dimensions but these can be modified to give the form
coefficients desired to give the desired propulsive efficiency, seakeeping and
manoeuvring characteristics. The values of ratios such as length to beam or draught
must be checked as being within the usually accepted limits. Absolute dimensions
must be compared with limiting values for ports and waterways the ship is to use.

Not all design features will be considered during every cycle or the design process.
Initial stability would be considered early on, large angle stability would follow later
but damaged stability would not be dealt with until the internal layout of the design
was better defined.

The best synonym for the word "smooth" in the first line is - ‘
1) subtle 2) innovative 3) effortless 4) complicated

The development of the design is ----—------=-=--

1) a direct way carried out sequentially accordmg to an exact previous plan

2) completely determined based on the shape and displacement of the ship

3) simultaneous with deciding about the details of the main propulsion

4) a process for calculating a desired result by means of a repeated cycle of operations

The type ship, according to the passage, —-=--===ceemeus,
1) helps the designer to get a first approximation to the principal dimensions of the
new ship

2) is a ship which is made in so small size but with the same functions
3) is designed based on the real ship to be replaced at the proper time
4) helps the engineers to confirm the new structures

Better defining the internal layout of the design is ~----eseseeenen 3
1) necessary to ensure it can meet the required functions

2) essential for considering all three stabilities

3) the prerequisite for considering damaged stability

4) dependent on limiting values the ship is to use

The paragraph following the passage most likely discusses —----eeeeeeeees,
1) the design progress 2) the size of ships
3) the type ships 4) ports and waterways
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